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tan 4 +tan B

sin(A—B)=sin Acos B —cos AsinB  cos(A—B)=cos.dcosB +sin Asin B
tan.A—-tan B
tan(A-B)=

sin(4+ B) =sin Acos B +cos 4sin B cos(A4+B)=cos.dcos B -sin.AsinB tan(4+B)=

sin(2A4) = 2sin A cos A cos(2.A4) =cos* A-sin° A | +tan Atan B
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Prove the identity.
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Evaluate without a calculator.
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10) sec A = —g— with A in QIV and cot B =—% with B in QII, find: ﬁ K; B
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11) Sketch a graph of the equation y =1+ 2sin4xcos2x —2cos4xsin2x. ‘/56 Sin (A ‘BL 31—0
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12) Sketch a graph of the equation y = cos’ (x/2) — sin*(x/2) V )’ Y Cuvs 92 A )Lp
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13) Sketch a graph of the equation y = 10sin(x/4)cos(x/4)

14) Sketch a graph of the equation y = 1/(cos(3x)sin(2x) — cos(2x)sin(3x)

15) Find the exact value of cos(arcsin(4/5) —tan'(3))

16) Evaluate the following.
2tan(15)/(1 - tan*(15) 'Tcw; Q\A

cos(n/5)cos(19n/30) — sin(n/5)sin(197/30) > C A *B) sec(75°)
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17) Evaluate the following.

cos(105°)

sin(195°)
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18) Find the exact value of tan(arcsin(-5/13) + arcos(-20/29))

19) . Given cosA = -7/25 in QII and cscB = -13/12 in QIV. f
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